| Efficiency vs Dxy |

> 0.1
Pad
i®)
.09
>
3.08
D
D.07
©
0.06
0.05
0.04
0.03
0.02
0.01

........................................................................

........................

Q

1

Ratio

1.1

1

................................

----- IEEEEEEEEEEERERAREL & b0 =5 o]0 - - <

......................

- - REEEE LR EEEEREE

| Efficiency vs Dz |

_2520-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_
—— DQM_mkFit_TTbase

TTbase

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06

0.05
0.04ftH-THA?

0.03
0.02

L

—

...........................

PRI S S MU TN S T NS S M N I P Y PR
. . ~ .

4

.-

bl

*

1-l®- - ¢4 -- ool

10

20 30
TP dz (cm)




	Contents
	Page 1


